
ABRHS PHYSICS (CP)  NAME: _________________ 

Challenge Circuits 

  side 1 

Fill in the missing information for each of the given circuits 
 
Circuit 1 
 

 R I  V   
R1 3 Ω   Vt = 14 V 

R2  2/3 A  It = 

R3 3 Ω   Rt =  

R4   8 V  
 

 
 
 
 
Circuit 2 

 

 R I  V   
R1   3 V Vt =  

R2    It = 4 A 

R3 2 Ω   Rt =  

R4 9 Ω 1 A   
 
 
 
 
 
Circuit 3 

 

 R I  V   
R1  3/2 A  Vt = 12 V 

R2 3 Ω   It = 5/2 A 

R3 3 Ω   Rt =  

R4     
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ABRHS PHYSICS (CP)  NAME: _________________ 

Challenge Circuits 

  side 2 

Circuit 4 
 

 R I  V   
R1   8 V Vt =  

R2   16 V It = 6 A 

R3 2 Ω   Rt =  

R4 4 Ω    
 

 
Circuit 5 
 

 R I  V   
R1    Vt =  36 V 

R2  1 A  It =  6 A 

R3 3 Ω 2 A  Rt =  

R4     

R5  2 A   

R6   8 V  

R7 1 Ω    

R8   18 V  
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